CHANNEL SUPPORT

BRACKETS

CHANNEL WASHER 2 HOLE PLATE 3 HOLE PLATE

84mm
| ———»

E”i
£
o
<

40mm
40mm

To Suit RodHole @ mm| Code Code Code Code
M6 9 50CF106 50CF2 50CF3 50CF4
M8 9 50CF108
M10 13 50CF110
M12 13 50CF112
5 HOLE PLATE ‘. BRACKET 90° BRACKET

89mm

40mm

Code Code Code Code
50CF5 50CF6 50CF7 50CF11
90° BRACKET 90° BRACKET

90° BRACKET

Code Code Code Code
50CF11A 50CF12 50CF13 50CF14
SHELF BRACKET 90° DELTA BRACKET 90° DELTA BRACKET 90° ANGLED ‘T’ BRACKET
51mm

138mm

Code Code Code Code
50CF15 50CF17 50CF18 50CF19
‘Z’ BRACKET TOP HAT SINGLE ‘2’ BRACKET

90° ANGLED LEFT ‘T"BRACKET  90° ANGLED RIGHT ‘T’ BRACKET

96mm
90mm

21mm 4gmm

Code Code Code Code
50CF22 50CF23

50CF20 50CF21

- 316 I:I Zinc I:I Zamac I:I Mild steel I:I Galvanised I:I Aluminium I:I Duplex




CHANNEL SUPPORT

TOP HAT INTERNAL OBTUSE
45° ANGLE BRACKET

SINGLE ‘Z’ BRACKET TOP HAT

40mm
40mm

Code Code Code Code
50CF24 50CF25 50CF26 50CF2945
EXTERNAL OBTUSE 45° ACUTE ANGLE ‘T’ 45° ACUTE ANGLE ‘T’ EXTERNAL CONNECTOR
BRACKET BRACKET

45° ANGLE BRACKET

Code Code Code Code
50CF3045 50CF31 50CF3145 50CF3341
INTERNAL CONNECTOR INTERNAL CONNECTOR BASE PLATE DOUBLE FIX BASE PLATE SINGLE FIX

45mm

Code Code Code Code
50CF3621 50CF3641 50CF38 50CF39
DOUBLE DELTA PLATE BEAM CLAMP BEAM CLAMP

SINGLE DELTA PLATE

153mm
153mm

Code Code Code
50CF4041 50CF4082 50CF44 50CF4521
Fixing bolt M10. Fixing bolt M10.
BEAM CLAMPS BEAM CLAMP ‘U’ BOLT

FOR OUR RANGE OF CHANNEL
SEE PAGE 715 OR VISIT
www.fhbrundle.co.uk

127mm

Code Code
50CF4541 50CF46-UL

Fixing bolt M10.

Fixing bolt M10.

705



